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637	
  has	
  a	
  1’s	
  place	
  ,	
  10’s	
  place	
  and	
  100’s	
  place	
  
Show	
  how	
  to	
  go	
  from	
  	
  
	
  
	
  
512+64+32+16+8+4+1	
  
512+64+56+5	
  
2*256+7*16+	
  13	
  =	
  512+112+13	
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The	
  base	
  represents	
  the	
  number	
  of	
  unique	
  symbols	
  (decimal	
  has	
  10,	
  octal	
  has	
  8,	
  
hexadecimal	
  has	
  16,	
  and	
  binary	
  has	
  2	
  unique	
  symbols)	
  
Every	
  group	
  of	
  four	
  bits	
  is	
  called	
  a	
  nibble,	
  every	
  group	
  of	
  8	
  bits	
  is	
  a	
  byte	
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The	
  base	
  represents	
  the	
  number	
  of	
  unique	
  symbols	
  (decimal	
  has	
  10,	
  octal	
  has	
  8,	
  
hexadecimal	
  has	
  16,	
  and	
  binary	
  has	
  2	
  unique	
  symbols)	
  
Every	
  group	
  of	
  four	
  bits	
  is	
  called	
  a	
  nibble,	
  every	
  group	
  of	
  8	
  bits	
  is	
  a	
  byte	
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The	
  base	
  represents	
  the	
  number	
  of	
  unique	
  symbols	
  (decimal	
  has	
  10,	
  octal	
  has	
  8,	
  
hexadecimal	
  has	
  16,	
  and	
  binary	
  has	
  2	
  unique	
  symbols)	
  
Every	
  group	
  of	
  four	
  bits	
  is	
  called	
  a	
  nibble,	
  every	
  group	
  of	
  8	
  bits	
  is	
  a	
  byte	
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**Convert	
  to	
  a	
  different	
  base	
  instead	
  of	
  same	
  base**	
  
	
  
637	
  =	
  0o1175	
  =	
  0b1001111101	
  =	
  0x27D	
  	
  
oct:	
  637	
  :	
  79	
  :	
  9	
  :	
  1	
  :	
  0	
  
bin:	
  637	
  :	
  318	
  :	
  159	
  :	
  79	
  :	
  39	
  :	
  19	
  :	
  9	
  :	
  4	
  :	
  2	
  :	
  1	
  :	
  0	
  
hex:	
  637	
  :	
  39	
  :	
  2	
  :	
  0	
  



Ask	
  students	
  to	
  write	
  down	
  binary	
  number	
  aSer	
  we	
  figure	
  it	
  out.	
  	
  The	
  quesVon	
  is	
  did	
  they	
  writ	
  the	
  MSB	
  on	
  the	
  leS?	
  
637	
  =	
  0o1175	
  =	
  0b10	
  0111	
  1101	
  =	
  0x27D	
  	
  
oct:	
  637	
  :	
  79	
  :	
  9	
  :	
  1	
  :	
  0	
  
bin:	
  637	
  :	
  318	
  :	
  159	
  :	
  79	
  :	
  39	
  :	
  19	
  :	
  9	
  :	
  4	
  :	
  2	
  :	
  1	
  :	
  0	
  
hex:	
  637	
  :	
  39	
  :	
  2	
  :	
  0	
  



2^3	
  +	
  2^2	
  +2^1	
  +	
  1	
  =	
  2^4-­‐1	
  	
  
2^4	
  =	
  2^3	
  +	
  2^2	
  +	
  2^1	
  +	
  2^1	
  =	
  2^3	
  +	
  2^2	
  +	
  2	
  Vmes	
  2	
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Ask	
  class	
  to	
  convert	
  from	
  binary	
  to	
  octal	
  
637	
  =	
  0o1175	
  =	
  0b10	
  0111	
  1101	
  =	
  0x27D	
  	
  
oct:	
  637	
  :	
  79	
  :	
  9	
  :	
  1	
  :	
  0	
  
bin:	
  637	
  :	
  318	
  :	
  159	
  :	
  79	
  :	
  39	
  :	
  19	
  :	
  9	
  :	
  4	
  :	
  2	
  :	
  1	
  :	
  0	
  
hex:	
  637	
  :	
  39	
  :	
  2	
  :	
  0	
  



We	
  can	
  write	
  any	
  number	
  in	
  any	
  base	
  we	
  like.	
  The	
  most	
  natural	
  base	
  for	
  computers	
  is	
  
binary,	
  which	
  is	
  hard	
  to	
  read,	
  which	
  is	
  the	
  reason	
  we	
  use	
  hex	
  and	
  octal.	
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Talk	
  about	
  Cin	
  (carry	
  in)	
  and	
  Cout	
  (carry	
  out)	
  
So	
  we	
  need	
  two	
  numbers,	
  the	
  sum,	
  carry	
  in,	
  and	
  carry	
  out	
  



Talk	
  about	
  Cin	
  (carry	
  in)	
  and	
  Cout	
  (carry	
  out)	
  
So	
  we	
  need	
  two	
  numbers,	
  the	
  sum,	
  carry	
  in,	
  and	
  carry	
  out	
  



Adds	
  two	
  1-­‐bit	
  numbers,	
  	
  
computes	
  1-­‐bit	
  result	
  and	
  carry	
  out	
  
Useful	
  for	
  the	
  rightmost	
  binary	
  digit,	
  not	
  much	
  else	
  
	
  



Adds	
  two	
  1-­‐bit	
  numbers,	
  	
  
computes	
  1-­‐bit	
  result	
  and	
  carry	
  out	
  
Useful	
  for	
  the	
  rightmost	
  binary	
  digit,	
  not	
  much	
  else	
  
	
  



Adds	
  two	
  1-­‐bit	
  numbers,	
  	
  
computes	
  1-­‐bit	
  result	
  and	
  carry	
  out	
  
Useful	
  for	
  the	
  rightmost	
  binary	
  digit,	
  not	
  much	
  else	
  
	
  











Can’t	
  do	
  much	
  with	
  S.	
  But	
  can	
  opVmize	
  Cout.	
  
	
  



How	
  do	
  we	
  get	
  to	
  our	
  circuit	
  from	
  Lab.	
  Using	
  the	
  !	
  notaVon	
  to	
  represent	
  NOT	
  here.	
  	
  
	
  
S	
  =	
  !A	
  B	
  !C	
  +	
  A	
  !B	
  !C	
  +	
  !A	
  !B	
  C	
  +	
  ABC	
  =	
  !A	
  (B!C+!BC)	
  +	
  A	
  (!B	
  !C	
  +	
  BC)	
  =	
  !A	
  (B	
  xor	
  C)	
  +	
  A	
  !
(B	
  xor	
  C)	
  =	
  A	
  xor	
  (B	
  xor	
  C)	
  
B	
  xor	
  C	
  =	
  !B	
  C	
  +	
  B	
  !C	
  	
  
!	
  (B	
  xor	
  C)	
  =	
  !(!B	
  C)	
  !(B!C)	
  =	
  (B	
  +	
  !C)	
  (!B	
  	
  +	
  C)	
  =	
  !B!C	
  +	
  BC	
  	
  
	
  
	
  
C_out	
  =	
  A	
  B	
  !C	
  +	
  C	
  (A	
  xor	
  B)	
  +	
  C	
  A	
  B	
  =	
  AB	
  +	
  C	
  (A	
  xor	
  B)	
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Adds	
  two	
  1-­‐bit	
  numbers,	
  along	
  with	
  carry-­‐in,	
  computes	
  1-­‐bit	
  result	
  and	
  carry	
  out	
  
Can	
  be	
  cascaded	
  to	
  add	
  N-­‐bit	
  numbers	
  
	
  



TransiVon:	
  to	
  do	
  subtracVon,	
  just	
  add,	
  but	
  negate	
  one	
  number	
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problems?	
  two	
  zeros,	
  circuit	
  sVll	
  complicated	
  
e.g.	
  the	
  existence	
  of	
  two	
  forms	
  of	
  the	
  same	
  value	
  (-­‐0	
  and	
  +0)	
  necessitates	
  two	
  rather	
  
than	
  a	
  single	
  comparison	
  when	
  checking	
  for	
  equality	
  with	
  zero.	
  
	
  
The	
  CDC	
  6000	
  series	
  and	
  UNIVAC	
  1100	
  series	
  computers	
  were	
  based	
  on	
  ones'	
  
complement.	
  
	
  
Also,	
  in	
  addiVon	
  to	
  two	
  zero’s,	
  there	
  is	
  a	
  crazy	
  phenomenon	
  called	
  "end-­‐around	
  
carry“:	
  	
  If	
  the	
  carry	
  extends	
  past	
  the	
  end	
  of	
  the	
  word	
  it	
  is	
  said	
  to	
  have	
  "wrapped"	
  
around,	
  a	
  condiVon	
  called	
  an	
  "end-­‐around	
  carry".	
  When	
  this	
  occurs,	
  the	
  bit	
  must	
  be	
  
added	
  back	
  in	
  at	
  the	
  right-­‐most	
  bit.	
  This	
  phenomenon	
  does	
  not	
  occur	
  in	
  two's	
  
complement	
  arithmeVc.	
  
SubtracVon	
  is	
  similar,	
  except	
  that	
  borrows	
  are	
  propagated	
  to	
  the	
  leS	
  instead	
  of	
  
carries.	
  If	
  the	
  borrow	
  extends	
  past	
  the	
  end	
  of	
  the	
  word	
  it	
  is	
  said	
  to	
  have	
  "wrapped"	
  
around,	
  a	
  condiVon	
  called	
  an	
  "end-­‐around	
  borrow".	
  When	
  this	
  occurs,	
  the	
  bit	
  must	
  
be	
  subtracted	
  back	
  in	
  at	
  the	
  right-­‐most	
  bit.	
  This	
  phenomenon	
  does	
  not	
  occur	
  in	
  two's	
  
complement	
  arithmeVc.	
  
	
  
The	
  CDC	
  6000	
  series	
  and	
  UNIVAC	
  1100	
  series	
  computers	
  were	
  based	
  on	
  ones'	
  
complement.	
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add	
  1	
  and	
  *discard	
  carry*	
  
Add	
  a	
  “Did	
  you	
  know	
  box”	
  
The	
  two's	
  complement	
  of	
  an	
  N-­‐bit	
  number	
  is	
  defined	
  as	
  the	
  *complement*	
  with	
  
respect	
  to	
  2^N,	
  in	
  other	
  words	
  the	
  result	
  of	
  subtracVng	
  the	
  number	
  from	
  2^N.	
  This	
  is	
  
also	
  equivalent	
  to	
  taking	
  the	
  *ones'	
  complement*	
  and	
  then	
  adding	
  one,	
  since	
  the	
  
sum	
  of	
  a	
  number	
  and	
  its	
  ones'	
  complement	
  is	
  all	
  1	
  bits.	
  The	
  two's	
  complement	
  of	
  a	
  
number	
  behaves	
  like	
  the	
  negaVve	
  of	
  the	
  original	
  number	
  in	
  most	
  arithmeVc,	
  and	
  
posiVve	
  and	
  negaVve	
  numbers	
  can	
  coexist	
  in	
  a	
  natural	
  way.	
  
	
  
Two's	
  complement	
  is	
  the	
  easiest	
  to	
  implement	
  in	
  hardware,	
  which	
  may	
  be	
  the	
  
ulVmate	
  reason	
  for	
  its	
  widespread	
  popularity[citaVon	
  needed].	
  Remember	
  that	
  
processors	
  on	
  the	
  early	
  mainframes	
  oSen	
  consisted	
  of	
  thousands	
  of	
  transistors	
  –	
  
eliminaVng	
  a	
  significant	
  number	
  of	
  transistors	
  was	
  a	
  significant	
  cost	
  savings.	
  The	
  
architects	
  of	
  the	
  early	
  integrated	
  circuit	
  based	
  CPUs	
  (Intel	
  8080,	
  etc.)	
  chose	
  to	
  use	
  
two's	
  complement	
  math.	
  As	
  IC	
  technology	
  advanced,	
  virtually	
  all	
  adopted	
  two's	
  
complement	
  technology.	
  Intel,	
  AMD,	
  and	
  IBM	
  POWER	
  chips	
  are	
  all	
  two's	
  
complement.[	
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Add	
  and	
  subtract	
  the	
  same	
  number	
  to	
  show	
  that	
  two’s	
  complement	
  works	
  

32	
  



choose	
  -­‐8	
  so	
  we	
  have	
  a	
  sign	
  bit	
  
+0	
  =	
  -­‐0	
  
wraps	
  from	
  +7	
  to	
  -­‐8	
  
asymmetric:	
  no	
  +8	
  
Range	
  of	
  values	
  with	
  n	
  bits	
  goes	
  from	
  unsigned:	
  0	
  to	
  2^n	
  –	
  1	
  
For	
  signed:	
  2^(n-­‐1)-­‐1	
  to	
  -­‐2^n	
  
	
  



Why	
  two’s	
  complement	
  works:	
  
Given	
  a	
  set	
  of	
  all	
  possible	
  N-­‐bit	
  values,	
  we	
  can	
  assign	
  the	
  lower	
  (by	
  binary	
  value)	
  half	
  
to	
  be	
  the	
  integers	
  from	
  0	
  to	
  (2^[N−1]−1)	
  inclusive	
  and	
  the	
  upper	
  half	
  to	
  be	
  −2^[N−1]	
  
to	
  −1	
  inclusive.	
  The	
  upper	
  half	
  can	
  be	
  used	
  to	
  represent	
  negaVve	
  integers	
  from	
  −2^[N
−1]	
  to	
  −1	
  because,	
  under	
  addiVon	
  modulo	
  2^N	
  they	
  behave	
  the	
  same	
  way	
  as	
  those	
  
negaVve	
  integers.	
  That	
  is	
  to	
  say	
  that	
  because	
  i	
  +	
  j	
  mod	
  2^N	
  =	
  i	
  +	
  (j	
  +	
  2^N)	
  mod	
  2^N	
  
any	
  value	
  in	
  the	
  set	
  { j	
  +	
  k2^N	
  |	
  k	
  is	
  an	
  integer } 	
  can	
  be	
  used	
  in	
  place	
  of	
  j.	
  
	
  
For	
  example,	
  with	
  eight	
  bits,	
  the	
  unsigned	
  bytes	
  are	
  0	
  to	
  255.	
  SubtracVng	
  256	
  from	
  
the	
  top	
  half	
  (128	
  to	
  255)	
  yields	
  the	
  signed	
  bytes	
  −128	
  to	
  −1.	
  
	
  
The	
  rela(onship	
  to	
  two's	
  complement	
  is	
  realized	
  by	
  no(ng	
  that	
  256	
  =	
  255	
  +	
  1,	
  and	
  
(255	
  −	
  x)	
  is	
  the	
  ones'	
  complement	
  of	
  x.	
  
	
  
hwp://en.wikipedia.org/wiki/Two%27s_complement	
  





•  1	
  +	
  -­‐1	
  =	
  0001	
  +	
  1111	
  =	
  0000	
  (0)	
  
•  -­‐3	
  +	
  -­‐1	
  =	
  1101	
  +	
  1111	
  =	
  1100	
  (-­‐4)	
  
•  -­‐7	
  +	
  	
  3	
  =	
  1001	
  +	
  0011	
  =	
  1100	
  (-­‐4)	
  
•  	
  7	
  +	
  (-­‐3)	
  =	
  0111	
  +	
  1101	
  =	
  0100	
  (4)	
  
	
  
	
  
7	
  +	
  1	
  =	
  0111+0001	
  =	
  1000	
  =	
  -­‐8	
  (OVERFLOW)!	
  	
  (Had	
  a	
  carry	
  in	
  to	
  the	
  MSB!)	
  Sign	
  of	
  
out	
  !=	
  sign	
  of	
  in	
  
7	
  +	
  (-­‐3)	
  	
  0111+	
  1101	
  =	
  	
  	
  	
  1100	
  =	
  -­‐4	
  
-­‐7+-­‐3	
  =	
  1001	
  +	
  1101	
  =	
  	
  	
  	
  0110	
  (cout	
  =	
  1)	
  (Did	
  not	
  have	
  a	
  carry	
  in	
  to	
  the	
  MSB)	
  
-­‐7+-­‐1	
  =	
  1001	
  +	
  1111	
  =	
  	
  	
  	
  1000	
  (cout	
  =	
  1)	
  
	
  
	
  



1	
  +	
  (-­‐1)	
  
(-­‐3)	
  +	
  (-­‐1)	
  	
  =	
  1101	
  +	
  1111	
  =	
  1100	
  =	
  (-­‐4)	
  
(-­‐7)	
  +	
  3	
  =	
  1001	
  +	
  0011	
  =	
  1100	
  (-­‐4)	
  
7	
  +	
  (-­‐3)	
  =	
  0111	
  +	
  1101	
  =	
  0100	
  (4)	
  
	
  
7	
  +	
  1	
  :	
  overflow	
  
(-­‐7)	
  +	
  (-­‐3)	
  :	
  overflow	
  
(-­‐7)	
  +	
  (-­‐1)	
  
	
  
7	
  +	
  1	
  =	
  0111+0001	
  =	
  1000	
  =	
  -­‐8	
  (OVERFLOW)!	
  	
  (Had	
  a	
  carry	
  in	
  to	
  the	
  MSB!)	
  Sign	
  of	
  
out	
  !=	
  sign	
  of	
  in	
  
-­‐7+-­‐3	
  =	
  1001	
  +	
  1101	
  =	
  	
  	
  	
  0110	
  (cout	
  =	
  1)	
  (Did	
  not	
  have	
  a	
  carry	
  in	
  to	
  the	
  MSB)	
  
-­‐7+-­‐1	
  =	
  1001	
  +	
  1111	
  =	
  	
  	
  	
  1000	
  (cout	
  =	
  1)	
  
	
  
	
  



a	
  –	
  b,	
  where	
  b	
  is	
  so	
  large	
  that	
  –B	
  overflows	
  
B	
  must	
  be	
  -­‐8,	
  so	
  that	
  –B	
  =	
  -­‐8	
  
last	
  bit	
  will	
  change	
  
if	
  a	
  >=	
  0,	
  will	
  correctly	
  signal	
  overflow	
  
if	
  a	
  <	
  0,	
  will	
  correctly	
  subtract	
  and	
  not	
  signal	
  overflow	
  



a	
  –	
  b,	
  where	
  b	
  is	
  so	
  large	
  that	
  –B	
  overflows	
  
B	
  must	
  be	
  -­‐8,	
  so	
  that	
  –B	
  =	
  8	
  
last	
  bit	
  will	
  change	
  
if	
  a	
  >=	
  0,	
  will	
  correctly	
  signal	
  overflow	
  
if	
  a	
  <	
  0,	
  will	
  correctly	
  subtract	
  and	
  not	
  signal	
  overflow	
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• 7	
  +	
  1,	
  -­‐7	
  +	
  -­‐3	
  
• 1000	
  overflow,	
  1	
  0110	
  overflow,	
  	
  

• 0	
  1	
  1	
  1	
  
0	
  1	
  1	
  1	
  
0	
  0	
  0	
  1	
  
1	
  0	
  0	
  0	
  
c_in	
  =	
  1,	
  c_out	
  =	
  0	
  
	
  
	
  	
  1001	
  
	
  	
  1101	
  
10110	
  
c_in	
  =	
  0,	
  c_out	
  =	
  1	
  
Overflow	
  occurs	
  because	
  there	
  are	
  not	
  enough	
  bits	
  to	
  represent	
  the	
  precision/
magnitude	
  of	
  the	
  result	
  of	
  the	
  add	
  
	
  MSB	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  0	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  0	
  
Cout	
  =	
  0	
  	
  	
  0	
  	
  	
  	
  	
  Cin	
  =	
  0	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  0	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  0	
  
Cout	
  =	
  0	
  	
  	
  1	
  	
  	
  	
  	
  Cin	
  =	
  1	
  (Overflow!)	
  



Outgoing	
  sign	
  of	
  result	
  (S)	
  does	
  match	
  in	
  coming	
  sign	
  of	
  operands,	
  A	
  and	
  B.	
  	
  This	
  only	
  
happens	
  when	
  Cin	
  !=	
  Cout	
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User	
  enters	
  the	
  numbers	
  to	
  be	
  added	
  or	
  subtracted	
  using	
  toggle	
  switches	
  
User	
  selects	
  ADD	
  or	
  SUBTRACT	
  
Muxes	
  feed	
  A	
  and	
  B,	
  
or	
  A	
  and	
  –B,	
  to	
  the	
  8-­‐bit	
  adder	
  
The	
  8-­‐bit	
  decoder	
  for	
  the	
  hex	
  display	
  is	
  straigh}orward	
  (but	
  not	
  shown	
  in	
  detail)	
  
	
  



red	
  herring?	
  constants	
  into	
  mux	
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